{ #i é , KUET, CUET, RUET & 3 JNIHd

[N.B: * o (eqT eiehata! @ i)

01. ABC faeted cFt@ a® + b* + ¢* = 2c?(a? + b?) T cosC 99 TH TI-

(@) & (b) +— ) +2

TEE: (b); a* + b* + ¢* = 2¢%(a® + b?)
= (a%)? + (b?)? + (—c?)? + 2a%(—c?) + 2b?*(—c?) + 2a%b? = 2a%b?
a?+b?—c?

= (a2 + b2 —c?)2=2a%b? 2 a’?+b?—c? =+y2ab= — +F

(d) None of them

. cosC =

=

02. a3 I R & cosAsin (a — =) «F T JZG T?
(@)X (b) (c

3

) E (d) None of them
STTA:(b); sin (A — =) cosA = {2cnsAsm (A-3)} = %{ (ZA -

©)- (@) -en(a-)-3
For maximum value, sm(ZA — E) =1 2A— E = g 2 :

03. 3T sina + sinB = a Y32 cosa + cosP = b T, SIZ= cos(a — B) tﬂﬂ‘-il‘ﬁ' FG7?

oAl

Dh
::
|

af4b?+2 at+b?-2 al-b%-2 | a’-b?+2
(a) == (b) == (€)= G
HAAYE: (b); sina + sinp = a = sin? a + sin? B + 2sinasinf = a% ... ......... (i)
cosa + cosp = b = cos?a + cos?B + 2cosacosP = b? ... ...... ... (ii)

(i) + (ii) = (sin? a + cos? a) + (sin® B + cos? B) + 2(cosacosP + sinasinB) = a® + b?

2-.—

= 2+ 2cos(a — B) = a? + b? - cos(a — B) == “+h-2

04. Lim (=) @3 T T
=T sinx
(a) 0 (b) 1 (c) -1 (d) None of them
2X
TGE: (a); Lim 22 = Lim —2y = Lim cnt— = cot— =0
x-m sinx x—m 2sinzcosz  x-m

2

- d
05. 3Ifx =tan? t 0% ARy = tan~! =22 T TR L A T TS

1+sinB
(a) -1 (b) 1 (o) %1 (d) 0
Y
—cosh zslnz
FAAMYE: (a); x = tan™ .‘1 = = tan" ‘ = tan~! tan
1+cosB EE'I:IS —
cosB r:::-sz——sszI _1 cosS—sin 1 1—tang t B T dy

y = tan™! =tan' —5—%—%— =tanT' —4—% =tan" f=-e-=-—x 2==-1

1+sinb cos2o+sin?2+2sinS coso cosS+sine 1+tan- 4 2 4 dx

2 2 z “9°2 z 2 2
06. fﬂl 2x3 e~** dx @7 W AT ==

(8) —=+1 (b) —= (c) —=+1 (d) None of them

FAY: (a); Let,x2 =z =~ 2xdx =dz ~ [2x3e ™ dx = [ze?dz =1z [ e %dz — J—{;:lz (z) [ e~%dz}dz
—ze 2 — [(—e?)dz=—-ze?—e?+c=—(z+ 1)e”?

s [lzetdz=—[z+ ety =—(e 1 -1)=1-2=-2+1
07. g8 y? = 4x ARy = x AIEAA TR ART CFEES CFATE (T T4

—
—

(a) —;sq. unit (b) gsq.unit (c) gsq.unit (d) %sq. unit




_ ; @ ? D KUET, CUET, RUET 25 8 FI{d

(0,0)

| 2
Shortcut: }"2 = 4ax Gy = mxww, Area = %%1 dAH,a=1,m= 1 . Area = E

08. &< a 9a WF AT @ 2i —j + k1 + 2j — 3k @32 3i + aj + 5k @2 foAG (37 92 IO A |

(a) 0 (b) -4 (c)-6 (d) None of them
2 -1 1
AgE:(b); |11 2 —-3|=0-~2(10+33)+1(5+9)+1(@a—-6)=0-~7a=-28~a=—4%
3 a 5
09. x3—2x%—x+2=0 TSI a 0 —2 < x < 0 AT GG FA 3a® + 2a% + 1 9I T -
(a) -1 (b) 0 (c) 1 ~ (d) None of them

A (b); x3 —2x2 —x+2=0. x> +x* —3x*—3x+2x+2=0
Ax2(x+1D)-3xx+D+2x+1)=0-(x+1)-2)(x=1)=0
+x=—1,2,1 [Or use calculator] =~ a = —1 [*[¥N8] @RY —2< —-1<0
230 +202+1=3%x(-1)*+2(-1)*+1=0

10.  0,3,5,6,8 SPETN AT (B SLFA ARG 7 I 4000 @7 (BT TG FOGTA! AL 5157 41 A7
(a) 144 (b) 192 (c) 168 (d) None of them
HAY: (¢); 4000 9T OTH I© 5 SCH AT (5! — 4!1) M1 96 AWTF |
4000 97 (51T TG 4 ICEF AT 3 X *p; A 72 AW |
4000 9 (B5TA T AT 218 a1 A (96+72) M 168 HAj<F |

1. 3 (1 +x)(a — bx)*? @7 fABfore x° T 7> =7 T O - SAATST T (&4 F41
(a) 2 (b) 2 (€)= (d) None of them
TE: (c); (1 + x)(a — bx)'? ¥ [PFEre x® 99 71> = 12Cqa*b® — *%C,a°b’

12 SL7
Cg a’b a a 5
‘mﬁ‘ 12C534bﬂ IECTEEb? s U - 12C — aq,bﬂ — E - E — E
7

12.  (1,2) T 2@ x — V3y + 4 = 0 QAR To17 W 717 WfFe T 2| TR O @ TFE g 97?

(a) -E:ﬁ (b) 2+f (c) Eif (d) None of them

HAY: (b); x — V3y + 4 = 0 QR T 717 @E Tad, V3x+y+c=0
Tt (1,2) R forc 3 R € = —(V3 + 2) o Ea 0w, V3x+y — (2 +V3) = 0

_ 1V3.0+0-(2+V3)| _ 2+V3
13.  x? +y? = b(5x — 12y) 08 WfFe 1 Y@ e wiearw #°e7; Fafqre ~riafba Fqread fda =
(a) 12x — 5y = 0 (b) 5x — 12y =0 (c)12x+5y =0 (d) None of them

STI4TA: (b); X2 +y? — 5bx + 12by = 0 .&% (32, —6b)
- 361 R QT AR, y = Z5-x - 5y + 12x =0
2
QrRg R AEE ~rftea 8o a9 e Tieed, 5x— 12y = 0
14. 10m/sec (@0 TSEINA G0 @ 2O G AL FCT (T T ¥R (A 10 sec #F BfCE WS F9e | AAD

(@R (AT #ITE Y (@4 THol F© Ba?
(a) 375m. (b) 380m. (c) 390m. (d) None of them

T (C); h = ut+2gt? = (10 X 10 +-x 9.8 102) m = 390m

oo T
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15, Wmﬁﬁ@mﬁmﬁrﬁwwﬁﬁmso & A 932 75 T Bf (AR 5% B2 Ay wimgiieeis sifse

16.

17.

18.

19.

20.*

r
i

) offe Frwee [9fe ¢ [rsad M @@ 9
(a) 97.98 fps, 45° (b) 97.98fps, 30° (c) 9.798fps, 45° (d) 9.798fps, 60°

FAGE: (a); 5 = 50 yards = 150Ft ~ R = 300Ft -~ 300 = “25‘;2“ ~ 150 x g = u?sinacosa ... ... (i)
Zsin®a
2g

N L (i — 1 + qyw— ACO . S SPNE SRS R
(+(Gi)=tana=1 ~a=45° ~150x 32 =u X =X=au 97.98 fps

GFEH A& SSIHGSI 3km/hr @ AR @B 177 FOR &% G2 At */1F 20 Al | T91 A7 20O T
TS IR e FA? W @I ifstast 5km/hr 27, Tt gz o R[efte g 0o 3© v 8@ 1t cfeea?
(a) 3.54 sec, 295m (b) 3.54 min, 295m (c) 3.54 sec, 2.95m (d) None of them

d 177m

TAY: (D); tpmin === = 212.4s = 3.54min

Vv — 3x103 -1
3600

QTHFCE @009 (@ IR TIE0 TTpNe Wi 7ag Srows S|
AX=utsx= (5;;‘;3 X 212°4) m = 295m

4 kg StFE 90 IF 150 FoE THe! (A “foe 20 ImE food 2 o™ At 303 33 2071 I8Hd T IME 51 51
%4-

(a) 2979.2N (b) 2879.2N (c) 2880.2N (d) None of them

150

AU (a); R=mg(1+-) =4x98x (1+=2)N =2979.2N

u

75 = ~ 150 X g = u®sin’a.... ... ... (ii)

1,2,8,5,5V2 @az 2v/2 @S N9 Ieefed ABCD IsTrwcad IAEFy AB, BC, CD ¥d2 DA 91 932 wit 3¢ AC @32
BD 99197 feFure | ABCD 3+ftwtas 2felo 3ea Ay 5 uas @ Ierefer afa I3-

(a) 30 units (b) 50 units (c) 40 units (d) None of them

C (AL o — 1 — 1 _1
TAIYA: (d); AB FARE TR BoAIge ey, F, = 1 8+5~J§x&+2\/§( ﬁ) . 3: -
= _4 OFF = 4 FTF, BA T3 o 2 .
SR, AD Fd Eoiiedt 0 AR, Fy = —5+ 2+ 5vV2 X =+ 2V2 X = = 4 9F%

>
)

.-.F=JF§+F§ = 4V/2 9TT

SiE AAMRAE 24m I @I CTgd S&+ 5 ton | GTYIT O 12 A8 Y20 AT T4 S]Fe | I 3 ton STEa aFio
NS CTYHBIE OF AT S 2/3 T 212 HTA ©IF BT RIS, O AT H2I0F 7 BILaid “Afawe @@+

(a) 4.5 ton-wt, 3.5 ton-wt (b) 5.5 ton-wt, 3.5 ton-wt
(c) 4.5 ton-wt, 5.5 ton-wt (d) None of them
TaEE: (a); Rt om 12m R
A 16m‘L i 8m B
Ston-wi 3ton-wt

A a3 TIeies @< AT, 24 x R, = 5% 12+ 3 X 16 ~ R, = 4.5ton — wt

B &= steits &< A, 24 x R, = 5% 12+ 3 X 8 ~ R; = 3.5ton — wt

IR A (101101), @ A FHESH (FI I Q@ FAE QAT 16 9121 fTorey 23?

(a) (101), (b) (11), (c) (0011), (d) Bothb & ¢
SIM: (b); (101101), =1 X 25+ 0x 2% +1x23 4+ 1x 22 +0 x 21 +1 x 20 = 45

45 O3 [§Foox 16 w4l fISiey 72l 481 .. @15 F9CS TE = 48 — 45 = (3),0 = (11),




s e orere— N R
e

21. &3 A Fo TSRST @ AP YT 10m 8 4m | G 41 20 RAFE Tl =41 77 Fare =M1 A= @7

ey el AT 34
(a) 5.1 Hp (b) 51.28 Hp ‘ (c) 6.87 Hp (d) None of them
AL (C); m = %ndzl X p; t=20min = (20 X 60)s
0+l 10 . mgh _ }x3.1415x4?x1nx1n3x9.ﬂx5 a
h_T_?_Sm"p_T- 20X60x746 Hp = 6.87 Hp

22. 27“067911:1@11kWWﬂﬁW@ﬂsﬁmzﬁmwﬁmlwﬁWwﬁﬁmw@smwwu
T BT ©T%f Z51a 219 160 J/sec =, B2 10 A el oremm o z3?
(a) 87°C (b) 77°C (c) 67°C (d) 27°C
A (a); QH, FEFA Tl p’ = (102 — 160)Js~! = 840]s!

L4}
=2 427) €8, =87°C
2XxX4200

23. TG F B H>H T 0.25m JAH @ G 9§ "B (7ITS 2/ =11 0.50m Y3 S_FS I§ PO (I T
SItF F© FAOM[ (75 AT FACO A7

o pft=m5(52'—81)=?82 =E1_:+EI=:’BE=(

(a) —2D (b) —0.5D (c) +0.5D (d) +2D
- — = igi_ (A _ 3 -1 — _9m=1 = _ o A = ‘g =
AAYIE: (a); P = i + == (n.sn Ms)m =-2m~'=-2D ]~ u=0.50m;x = —0.25m

24. Bf¥E X 30° @A WS GFH PAA O AB 97 A {9 A (W @If6 T8 PAreIE Af%ww 10sec @ B {re
S | BfY 2O A a3 Tl 8?2
(a) 212.25m (b) 122.5m (c) 368.48m
AAYH: (b);

(d) None of them

X = ~gsinBt? = ~x 9.8 x sin30° X 10?m = 245m
.2 =5in30° =2 h = (245 x ) m = 122.5m
X 2
25. O TG e WASN 480m® W3R SI7WIEr 293K | Sroirar 298K TFS (a1 AT *oaa TS T (77 m:ma'? (5191
yoffiafee =)
(a) 1.71% (b) 48.71% (c) 20.17% (d) None of them
ANIYE: (a); V, = :—j x Vy = (22 x 480) m® = 488.1911m® -~ AV = V, — V, = 8.1911m?

8.1911 .

- (J3 26T IR =e:a “Afawe = —
26. 50kg W W< A& S5sec @ @ PG @ 20 419t Totg ©oe | &fs «irerm Two! 10cm | EFD F© Vo] 7939

X 100% = 1.71%

7

(a) 1.9 x 10*watt (b) 490 watt (c) 196 watt (d) None of them
mgh EUHE".EKID! -0

AATYI: (c);p=T= : 100w = 196watt

27. 2.7 x 10* amp/m RN Q0 GIEF (Fe@ 0.2 X 10™*m? CFAFET 936 GIEF WS 5.3 X 10~5Wb FIF B
| I S [ +4

(@) 2.65Wb/m? (b) 1.96 X 10°Wb/m?  (c) 1.43 Wb/m? (d) None of them
FT: (d); By =M GIywCsa = poH; B, = W ciersa = 2
B=B,+B, = o+ = (41 x 107 x 27 x 10* + 222107\ -2 = 2,.68Wbm ™2

- P T B2 T RoH T = | AT ST g2 x 1074 ) VoM 7 = 2.68Wbm

TR, | s |
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28.

29.

30.*

31.

32.

33.

34.*

35.

@ FGAICO 9F FRCC Ofe. 2% 0.1A (AF 0.5A @ +43f$e 2eqw @ FHAITe 10V SfoesE «fe Wi =7
TG TR AT -

(a) 25H (b) 20H (c) 15H (d) 10H

AL (a); € = LS{- = 10 =L X (E'E'n'l) ~ L =25H

@36 @ S0km /hr QT 55 SREA @ 0T 60cm/sec? T0 JfE F41 26| GAd F© 74 57 4oed?

(a) 160.55m (b) 150.55m (c) 277.89m (d) 158m

2 2
AAIGA: (a); V= 22 = 13.88ms !~ x = — = 2288 1 — 160.55m

hr 2f  2x0. ﬁﬂ'

G6 SNNGE e 1 A <168 219 71 T¥)1 359 SreEad @14 0.81 ohmlwwﬁﬁﬁmnﬁﬁwﬁ—ﬁﬁr
HrerBare @I4F TR T2 AL A5 AL Wre T @3 IW 3-
(a) 0.090 (b) 0.030 (c) 0.30 (d) 0.90
HALA: (a);n = 2= 10 - r = — = 221 0 = 0,090 |
Eﬂ@@WQH%ﬁNWWMWW
—10V 50 ':Eloﬂ =20V

20

(a) 0 amp (b) 2 amp (c) 3 amp (d) 4 amp

SN (a); Shortcircuit. QUF@ SoF BHA CHFIA2 CLIE (A9 AT Z0O FGF AT ©fGs (AR AL
ACACR [[RY1T 20 @ANYA I47 T &A1 2312 55703 11 |

9o 2fEw 5ifere @ @ 14km/hr | FR1F 2% 12.125km e M7 WSS A1fe e e 797 AmiR? [@ees
@9 7km/hr1]

(a) 1.25 hr (b) 1 hr (c) 7 hr (d) None of them
AAIGH: (b); u

w = VvZ - = V142 — 72-° = 12.125km/hr oW

o= d _ _12125km_ _ 1hr —>

w 12.125km/hr

936 500m? TS ICF ISR SNl 37°C | FF FAE LA FAK G ISR S S0 22°C &1 M
YA IYBI° A S, O *[SFa F© Sl Mo IH W04 /AR A E?
(a) 4.84% (b) 2.42% - (c) 24.2% (d) None of them

ANYE: (a); V, = I—f XV, = G:g:zj X 500) m® = 475.81m? . AV =V, — V, = 24.1935m’

241935

. (SO0 AT IS *eddl 2Afqqe = X 100% = 4.84%

1050 Hz == 3y faf*2 a3 =itz Text o 96 e 20 m/sec *ifete @t 1=ites e veng) wre
T3 I 7T O G937 (*10H4 @51 =330 m/sec)

(a) 970 Hz (b) 990 Hz (c) 1115 Hz (d) None of them

FAIYI: (b); QTR B (ST TS I HCH TR |

. (G T WOTS *IT =S FE, F' = (1050 X —- ) Hz = 990Hz

23m Tf Qb WA BV (A a6 I9 Aereid feve s Hewe a1 =01 6 vienar @ @ it (it 3m
THTS A0 4T (Fere | 419 JZ0o Fevd Aferds et 40 m/sec | Tt Tar@ e @004 siferas T fza?

(a) 33.9 m/sec (b) 34.8 m/sec (c) 40.7 m/sec (d) None of them

H14: (b); v2 = u? + 2gh; h=(23 —3)m = 20m

nu=.vZ—2gh=+v40%2 —2x9.8 X 20ms~! = 34.8ms™*

ECE, | > |



I | 5§

36. > BT 2fF 500K SrAN@E ©ief B At 300 cal O Q2 I 992 B9 RS 225 cal O e 3¢ | O

HRIP O F67
(a) 666.67 K (b) 135 K (c) 300 K (d) 375 K
A (d); o2 = 1 = Tp = (500 X 500) K = 375K
37. 5.5 m ster @b 2R 2 e ©fS | #fifFa efSsarE 1.33 T To7 (UtE 2R 2@ Sem oFe g (A0S
FOpF OAHLE (T 137
(a) 4.135 m (b) 1.36 m (c) 7.32m | (d) None of them

Fﬁﬂﬁﬁ:(b);ﬂx=dx(1—&)=5.5x(l—1—_—§-§)m=1.36m
38. & g7 wrwa ANACE Q0 8T TooE IWNE IAEFW | @32 211 IW o g AfoifE W =w, ome @ faw

SACACTA TIAS F©7 |
(a) 1:2 (b) V2:1 (c) 1:+/2 (d) 2:1

e 1 2 _ 1 2 Wi _ VI, Li_ LWy _IxZ_ 1 . . _ .
L (C); 5 X IX WE =2 X 2l X W} o 8 = 5 e = Ll =1:42

39. b Ml Otd &RIRS WA SACHa AN y = Iﬂsin(ﬂtz—lzn), @A X 8 y 93 GFF AFORAGE 992 t @F

OGFF (TG | SIHLT ofC 8?7
(a) 500 cm/sec (b) 50 m/sec (c) 10 m/sec (d) 400 cm/sec

IRy o - t x | _ .1 {100 _ iy .
A4 (b); y = 10sin (u.uz — mu) = 10sin — (ﬂ‘ﬂz t— x) = 1051nm(5000t — X)
v = 5000cm/s = 50m/s '
40. W3 o7 ProeTa fea 9 germ m, = 1kg, m, = 2kg 932 m; = 3kg UG FIqE o (HfSb =T a7 1m)

7 foaio sfita wfefoe | 359 sarew FdT T

@ (%) or (3%) OGEF) e GE 0F)rGY) @) Gn)

TA: (a) ; Fig: | RS #I1R, y -5 ACTF I fe, (1424 3).X=2x1+3x-0nX=—==

X S ANOTF IS 0, (1+ 2 + 3)y = 3.§,-.§=£=§

Fig: ii 208 2%, x <% AACH SNF W, (1 + 2 + 3).% = 3.?-_§=
y —SF ACATE NS {7, (1+2+3)_y=2x1+3x%.-.§=§.§

. 3.6 V3 v3 35

o (5.7) or (T.)

41. 20°C SI7N@T 98.66 kPa B1T? 0.842 kg A@F(0 577 0.4m? SAOH W IR 1 AT oS ©F F© 7?7

(a) 510.7 (b) 51.97 (c) 61.97 (d) 5.107
TY: (b); PV = SRT = M = ":TT = “‘E‘f;;iﬁf:;:”?‘ gmol~! = 51.97g mol~! .. &4fqF &4 = 51.97
42. AN 96% FIERTAMN FIRCAG SITE | 7Y FRGNFIEE AfFTE 150 gm [P HIge I A I TS 07
CO, a3l FA?
(a) 32.256 L (b) 3.2256 L (c) 322.56 L (d) 0.3226 L
HAAIYIF: (a); 150gm 99 96% = 144gm
CaC0O; — Ca0+CO, ..T9F CO, @F TFey = 22214 | — 32 2561

100g 22.4L 100

) ECDE | 267 |




tafaf o s IR AR

43. G (TR GO FAW WY RO @Y 39 6.21 X 10~ 3dm3mol™ ‘sec | O7DIF 32 FIT TOEd gl
0.05 mol. dm~3 It Af&Toa 90% F i e T© JANY FE?
(a) 2.89 x 10%s (b) 28.98 x 10%*s (c) 2898 s (d) None of them

X 0.05%0.90 4
(a) L= k a(a x) 6. 21:10—3 ﬂ.ﬂEx{ﬂ.DE—D.DExD.QD] s =2.89x10%

44, 25°C8 35°C oM@y @I IpMEFe [RiTFTm 9 $99 IUFW 2.25 X 102 min~! 932 7.10 X 10~ 2min~?!
RiTmios Al «Ife $97? (R = 8.316]K " 1mol™1)

(a) 8771 ].mol™1 (b) 87.71].mol™? (c) 87.71KJ.mol™* = (d) None of them
PRy K2\ _ Ea (T2-T, 7.1x1072Y\ _ E, 308-298Y _ 2 -1
FAIIS: (C); In (I{l) " R (Tsz ) = In (2.25:{1!}‘3) = 8318 (zaaxsﬂa) * Eq = 87.7 x 10°]mol

45. SOCIAN FHG0 &F NHf 93 k, = 5.8 X 1071° Tr& NH,; 97 K, 93 9 367
(@) 5.8 X 107%mol.L™* (b) 5.8 x 10™*mol.L™*  (¢) 1.72 x 10™>mol.L™* (d) 1.27 X 10™>mol. L™
T (c); Ky X Kp = Ky =~ 5.8x 10719 x Ky, = 10 .~ Ky, = 1.72 X 10~°molL™?

46. 500°C IR AEFIREEA (C,Hg) @7 Ramem ol e ww faferar) « ffram 79 695 9.2 x 1073571 | B
=14 1.0M B34 90% RTae 0o F© AN A ? |

(a) 100.82s (b) 200.53s (c) 250.33s (d) 300.25s
AAYE: (C); t = %ln :x = 9_2:10_3 In (1_;'%) s = 250.33s

47. 63.5 gm Cu RS Afdes zre & +ffase e o1&t fie 13? |
(a) 96.500C (b) 1F (c) 2F (d) 3F
A (€); Cu**+2e” %1;(55;) . TS BI% 2F |

48. @M Qb 2@ AT ABERR?
(@) ®*Cuypg, **Zns, (b) *°C1Y7, %S, (c) *°Siyq, *'Pis (d) 'H,, *H,

HAATY: (a); ©9 FALAJ FAN
49. 02 A PHIG 140 Pm @32 Ti** SR TEME 68 Pm 1 Ti0, “Fo0aa AR AT F67
(a) 6:3 (b) 6:6 (c) 8:4 (d) None of them

68

HAATYI: (a) =Tl 0.48 91 0.414 — 0.73 a9 ST4] |

' rA
~ Ti** a3 A AR =6 -~ 0%~ qF FAHCI 7247 =3 [Ti0,] - Ti0, O AN 7 = 6:3
50. ﬁmﬁ%@“ﬂ‘mﬂﬁﬂtﬂ?mﬂﬂﬁ[W?

EEEU | "H:IAI,.
92 18 4
(@) 'H,, *H,, *H, (b) #7Uy, (c) *°Kyq (d) **Cs, °N,, 1°0g
238 40
Usg Ca,g

ST (d); SR A7 FJAA |
51. @30 BrR@ 25 ml, NaOH G34tE 2+ifire Fare 16.5 ml, 0.125 M H,S0, %39 TS 201 NaOH HTeid ga=@l

TS Q7
(a) 0.0825 M (b) 0.1894 M (c) 0.0125 M (d) 0.225 M
ANLH: (Ans. (FR); e,5,V; = €,5,V, -~ 1 X 25X s; =2 X 16.5 X 0.125 ~ s, = 0.165M
52. A6 opd Tel (AT AT T @Z AS | [Ans: a]
i) SIT6a (16 FH71-Gr1 71 99 TAIZR?
i) NI6a @EG NG 9T I FIFtEs idr?
(a) Maleic acid; C; — C45 (b) Lactic acid; Cy3 — Cyg
(c) Butane; Ci5 — Cyg (d) Dimethyal Ether; C,, to C;5
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53. 0.20 gm C%F I PR LAice [Teas F2 0.1167 gm BaS0, AN ¢oie | Fewicad *osar =17 fAdy 394
(a) 23.53% (b) 10.01% (c) 8.01% ~ (d) None of them

SIIYA: (C); @3, a qF AW = 2217 — 0 016g .- ST ST = (Mx 100) % = 8.01%

137+32+64 0.20

54. BT PAGTAT (UE AT T&a Qg Are: [Ans: c]
i) SrerFEs [y tofire Ikge W @Fb?
i) GETDIRA (UTF AP FABED [T @072 |
(a) Methanol; Zn/HCI  (b) Ether; Sn/HCI (c) Surbital; Pd/H, (d) Glycol; Zn — Hg/HCI

55. 63 LMGTEl (RTF A3S TG (@02 7S | [Ans: b]
i) ftR @ FIEERE e ATFe?
ii)* e @l Foar T aagw =3? |
(@) AlF;.2NaF; C;HsCl  (b) AlF;.3NaF; C4HgClg (C) AlF;.2NaF; CH,Cl, (d) AlF;.4NaF; CHCl,

56. ANTHA MGl (TS AT BEa @z Ae | [Ans: a]
i) CIGT AT s e (@it ?
i) fafrE s s 71 @En?
(a) SO;H; 81 (b) —NH,; 100 (c) -X; 74 (d) —CH3; None of them

57. 6 GTE (AT AT BGT (@R NS |
i) TP ferate=w feraa 4w Teom @R ? [Ans: b]
i) v Al Tty @ wibe cs?
(a) R — CONH,; CH5;COCI (b) R — NH,; Ag(NH3)CI
(c) R — COCl; Ca(OCHC (d) R — COBr; (CH5CO0),0

58. A6 eraTel (IS T T6a @R s | [Ans: a]
) TN G I &7 (@ RERSH 79279 I8 277 4
ii) AIPFES ARE 57 @ A wfem=?
(a) Tollen reagent; Isoprene _ (b) Grignard reagent; Isobutane

(c) Lucas reagent; Isopropane (d) Neslar reagent; Isopantane

59. {69 epieteT ot 1o Twaa @z e | [Ans: d]
i) CONBITETATT (STeTR “RTHT4R T 2 @ ~afors?
ii) e <13 9@ fee Wi = S92

(a) Extractive distillation; Nitrobenzene (b) Destructive distillation; Anelene
(c) Steam distillation; Toluene (d) Fractional distillation; Phenol
60. fATEa erete T 7T Tea @z NS |
i) 59 et IS SR Rieest Serers e Arear am? [Ans: b]
ii) ST @7 shefe e @min?
OCONH> OCOCHj3 OCOC] OCONH;

COOH COOH OH COCI
(a) Oxalic acid; (b) Glycerol; (c) Oil; (d) Fat;
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Today perhaps your only association with the word ‘polio’ is the Sabin Oral Vaccine that protects children from the

disease. Fifty years ago this was not so. The dreaded disease, which mainly affects the brain and spinal cord, causing
stiffening and weakening muscle, crippling and paralysis- which is why I am in a wheelchair today. If somebody had
predicated, when I was born that this would happen to me, no one would have believed. 1 was seventh child in a
family of four pairs of brothers and sisters, with huge 23 years gap between the first and last. I was so fair and brown

haired that I looked like a foreigner. I was also considered to be the healthiest of the brood.

61. In this passage, the narrator is a patient of: [Ans: d]
(a) heart disease (b) paralysis (c) nervous weakness (d) polio |

62. In this passage, the word ‘brood’ refers to: | [Ans: b]
(a) children in the family(b) polio victims (c) foreign children (d) Indian children

63. Choose the correct ‘Passive voice’ for the following ‘Active Voice’: ‘His conduct annoyed me.’ [Ans: a]
(a) I was annoyed at his conduct (b) I was annoyed by his conduct |
(c) He was annoyed me at his conduct (d) I am annoyed at his conduct

64. Choose the “Synonym™ of the word ‘August’: " [Ans: c]
(a) common (b) ridiculous (c) dignified (d) petty

65. Choose the correct ‘Indirect Speech’ of the following ‘Direct Speech’: ‘Are you hungry, friends?’ Said the shrewd
king. | [Ans: b]
(a) The shrewd king said addressing them as friends, if they were hungry.
(b) Addressing them as friends the shrewd king asked if they were hungry.
(c) Approaching them as friends the shrewd king said if they were hungry.
(d) Addressing them as friends the shrewd king said if they are hungry.

66. Choose the “Correct form of the verb” in parenthesis of the following sentence:
‘Ali would rather.............. (sleep) than worked last night.’ [Ans: a]
(a) slept (b) have slept (c) have been slept (d) will sleep

67. Choose the ‘Complex Sentence’ of the following ‘Simple Sentence’:
‘I follow my father’s example.’ [Ans: a]
(a) I follow the example which was set by my father.
(b) My father not only made an example but I fulluw;ﬂd it.
(c) My father asked me to follow this example.
(d) My father would rather that I follow his example.

68. Choose the ‘Appropriate Preposition’ to fill in the blank of the following sentence:

“The driver stopped just .......... time to avoid an accident.’ [Ans: a]
(a) in (b) by (c) at (d) on

69. Identify the “Correct Translation™: ‘“FlSJSICa FeTe TSI U (67T Y AF0T @ T zrer , [Ans: b]
(a) Real flowers hardly could have smelt better. (b) Real flowers could hardly have smelt better.
(c) Real flowers could have smelt better hardly. (d) Real flowers could smelt better hardly.

70. Choose the “most appropriate choice” of the meaning of the underlined idiom in the following sentence: ‘Professor

Frank Banks is on the wrong side of seventy.’ [Ans: b]
(a) Less than seventy years old (b) More than seventy years old
(c) Seventy years old (d) Eighty years old
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